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St.1 St.2 St.1 St.2
32.0 30.1 7.6 6.1
44 39 62 62
m/s 1.2 1.0 1.0 0.7
10 37 12 30 13 36 14 38
11 12 13 05 14 13 15 10
ppm <0.1 <0.1 <0.1 <0.1 1
ppm < 0.0002 | < 0.0002 | < 0.0002 | < 0.0002 0.002
ppm < 0.0002 | < 0.0002 | 0.0012 0.0006 0.02
ppm < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 0.01
ppm < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | 0.009
ppm < 0.001 | < 0.001 | < 0.001 | < 0.001 0.005
ppm < 0.005 | < 0.005 | < 0.005 | < 0.005 0.05
ppm < 0.005 | < 0.005 | < 0.005 | < 0.005 0.05
ppm < 0.001 | < 0.001 | < 0.001 | < 0.001 0.009
ppm < 0.001 | < 0.001 | < 0.001 | < 0.001 0.02
ppm < 0.002 | < 0.002 | < 0.002 | < 0.002 0.009
ppm < 0.002 | < 0.002 | < 0.002 | < 0.002 0.003
ppm < 0.03 < 0.03 < 0.03 < 0.03 0.9
ppm < 0.03 < 0.03 < 0.03 < 0.03 3
ppm < 0.03 < 0.03 < 0.03 < 0.03 1
ppm < 0.03 < 0.03 < 0.03 < 0.03 10
ppm < 0.03 < 0.03 < 0.03 < 0.03 0.4
ppm < 0.03 < 0.03 < 0.03 < 0.03 1
ppm < 0.0006 | < 0.0006 | < 0.0006 | < 0.0006 0.03
ppm < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | 0.001
ppm < 0.0004 | < 0.0004 | < 0.0004 | < 0.0004 | 0.0009
< 0.0004 | < 0.0004 | < 0.0004 | < 0.0004 | 0.001
< 10 < 10 < 10 < 10
< 10 < 10 < 10 < 10
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6.4-5
6.4-3 150m
600m 900m
1,100m
St.1 St.2
6.4-5
0 150 900
23.7 26.3 28.3
77 72 67

m/s 1.0 1.0 1.0
ppm 0.1 0.1 <0.1 1
ppm < 0.0002 < 0.0002 < 0.0002 0.002
ppm < 0.002 < 0.002 < 0.002 0.02
ppm < 0.001 < 0.001 < 0.001 0.01
ppm < 0.0009 < 0.0009 < 0.0009 0.009
ppm < 0.0005 < 0.0005 < 0.0005 0.005
ppm 0.028 0.041 0.029 0.05
ppm < 0.005 < 0.005 < 0.005 0.05
ppm < 0.001 < 0.001 < 0.001 0.009
ppm < 0.002 < 0.002 < 0.002 0.02
ppm < 0.001 < 0.001 < 0.001 0.009
ppm < 0.0003 < 0.0003 < 0.0003 0.003
ppm < 0.01 < 0.01 < 0.01 0.9
ppm < 0.01 < 0.01 < 0.01 3
ppm < 0.01 < 0.01 < 0.01 1
ppm < 0.01 < 0.01 < 0.01 10
ppm < 0.01 < 0.01 < 0.01 0.4
ppm < 0.01 < 0.01 < 0.01 1
ppm < 0.003 < 0.003 < 0.003 0.03
ppm < 0.0001 < 0.0001 < 0.0001 0.001
ppm < 0.00009 < 0.00012 < 0.00015 0.0009
ppm 0.0001 0.0001 0.0002 0.001

- 10 10 10 10
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